1. Fill in the tables, (use calculators if necessary) then guess what the last
two boxes should be.

1
n 777
_ iy _ 1)1y _1 31y \_3 | __1 1 1 2??
z L3 1|09 6 | 25 | 1000 106 1055 | 101 1020 | - | CF
xsin 2 2979
_ _ 4 _ 4 4 1414 4 | 4 | _4 | _4 29°
z 414 301 201 | 3|5 |7 | 201 | 301 | 2001 | 3001 oo
() R
x —1(1/-011]01]—-=0.01[001]102| =102 | —=10"* 104|105 | ... | 2?7

where f(x) = {\/f ifz >0
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2. For each of the tables in (1) write it as a limit; i.e. lim, ., f(z) = L
where you fill in f(z), a, and L.



